Efficiency vs Dxy(PV)
0.2

=0.18F
©0.16F
>
20.14
5
'50.12
0.1
0.08F
0.06F

(PV)

dx

eff

0.04F
0.02F

of
1.5

Ratio

20 —15 =10 =5 0 5 10 15 20
TP dxy(PV) (cm

= original_step: ar-phasel-newgeom
—e— DQM_mkFit_step2_tthar-phasel-newgeom

—— DQM_angle_step2_ttbar-phasel-newgeom

— —— DQM_fast_step2_ttbar-phasel-newgeom

I Efficienc] —— DOM_pixelCPETemplate_step2_ttbar-phasel-newgeom

e

2 0 02 04 06 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

s

o L

§ f

e i R R L

e T

< : : : :

& 0.8f--eeees Pereedeeee SEREED PR

= r . . . . .

@ o . . . . .
0.6f == wesene FERREE F RREEE RN FEERED
0.4 EREEE E1 AR CRRREE feeees
02:— ........... [ Y LT [

)

T

o
°%0 20 10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. [ -
&g [ :
¥ O} :
» 1__ ‘.'""""'"""'. """""""""
> . .
> r N
Q B .
5 osgf- e SRRCTETE CECTEREEED
o B .
£ I :
[} r .
0.6f e ETREE :
0.4f- PN T ;
(o) SEEEPEY B SRR foeeeans :
o 0 ] ] ]
RS R o 1 i
o . .
-0.5 0 1

0.5
TP dz(PV) (cm)



	Contents
	Page 1


